fog | o elaq sifiieds td hefe sifysds odieu - & gufar g:

CHO

| S

. CH;CHO
3. CH;COCH,

COCH,4

Options :

485584143257. 1
485584143258. 2
485584143259.3
485584143260. 4

Mathematics
Group Number : 2
Group Id : 485584810
Group Maximum Duration : 60
Group Minimum Duration : 60
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group MarKks : 200
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Common

Section Id : 485584930
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15
Section Marks : 75
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section Id : 4855842647 .
Qcollegedunlas
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Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 51 Question Id : 48558435816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl
2 1
1 4 _ 1 2 30
IfA= and B = then
1 6 2 -1 6 7
0 7

1. only AB is defined.

| )

. only BA is defined.

. AB and BA both are defined.

L]

4. Neither AB nor BA 15 defined.

Options :

485584143261. 1
485584143262.2
485584143263.3
485584143264. 4

Question Number : 51 Question Id : 48558435816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl
2 1
1 4] = L. 2 340 -
afa-| " 4 am_L i ?}am
0 7
1. Had AB URHIET §
2. $ad BA TR g
3. AB TYT BA &I ORI g

4.7 AB 3R ATE BAURYUING g

Options :
485584143261. 1

485584143262. 2 .
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485584143263. 3
485584143264. 4

Question Number : 52 Question Id : 48558435817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQLl

4x Sx-=7 [ x+6 Y :
If =l " _ ~|then the value of 2x + y is:
dr 2x+y| |[Ty-13 7 -

| ]
-1

L]
=]

4.6

Options :

485584143265. 1
485584143266. 2
485584143267.3
485584143268. 4

Question Number : 52 Question Id : 48558435817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQL1

afg [4'l > T};_j I {}3 :]t_‘ﬁ 2x +y Pl ﬂ'Fi'%-

4 2wy ] |[Tr-l

1.8

[
-1

4.6

Options :

485584143265. 1
485584143266. 2
485584143267.3
485584143268. 4

Question Number : 53 Question Id : 48558435818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1 Qcollegedunias

India’s largest Student Review Platform



Question Key Details :

Key Value
Comprehension MCQl

The area of a triangle with vertices (0. =3). (0, 3) and (k. 0) is 27 sq.units. The value of k is:

1.-27
2.-6
3.-18
4.9
Options :

485584143269. 1
485584143270. 2
485584143271. 3
485584143272. 4

Question Number : 53 Question Id : 48558435818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQI
A (0. -3). (0. 3) 3R (k. 0) T FAYST FT AT 27 T 3BT 8| k BTHAA &

107
50
3.-18
4.9

Options :

485584143269. 1
485584143270. 2
485584143271. 3
485584143272. 4

Question Number : 54 Question Id : 48558435819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl

.
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. . . 3 2 .
If A is a non singular square matrix of order 3 such that A~ = 4A< then value of |A] 1s:

1.16

| ]

.64
3.4
4.8

Options :

485584143273. 1
485584143274.2
485584143275.3
485584143276. 4

Question Number : 54 Question Id : 48558435819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl1
af% A BT 3 BT FH VT 1 3HTegE 39 UPR o fb A% = 4A2 T |A| BT HE BHT-

1. 16
2.04
3.4
4.8

Options :

485584143273 1
485584143274. 2
485584143275. 3
485584143276. 4

Question Number : 55 Question Id : 48558435820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl

.
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. . 3 . .
Derivative of 2x~ with respect to Sxt is:

I

3x
1
5x°
1
Sx
]

A
3
S

1.

| )

5

Options :

485584143277. 1
485584143278. 2
485584143279.3
485584143280. 4

Question Number : 55 Question Id : 48558435820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ1

5x* 3 gTde] 2x2 T 3dha o-
|

1.
X

, R —
3
5x

Options :

485584143277. 1
485584143278.2
485584143279. 3
485584143280. 4

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 e gEd unias

India’s largest Student Review Platform

Question Number : 56 Question Id : 48558435821 Question Type : MCQ Option Shuffling : No Is Q&Mmﬁlatory :
co



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

The slope of normal to the curve y = 3x? — 6x at x = 0 is:

1.-6

| ]

L ¥]

Options :

485584143281. 1
485584143282.2
485584143283.3
485584143284. 4

Question Number : 56 Question Id : 48558435821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

x=0WRdF y = 3x2 — 6x D HLTd P Uurdl g

1.-6
a1
i
3.1
6
g2
3

Options :

485584143281. 1
485584143282. 2
485584143283. 3
485584143284. 4

Question Number : 57 Question Id : 48558435822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

W collegedinias
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Iff(x)= 32, then f(x) 1s:

L. Inereasing in (0, =), decreasing in (—oo, 0)

| ]

Increasing in (—oe., 0). decreasing in [0, o)

L]

O o =
. IllCl'l:F]EiIllg m|——_o2 |, dﬂCI'ﬂﬁSIIlg m | —oo, —
3 3

4. Decreasing for all real values of x

Options :

485584143285. 1
485584143286. 2
485584143287. 3
485584143288. 4

Question Number : 57 Question Id : 48558435822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl1

qﬁf{x} - 32 8. d fx) T
. (0, =) T THAM, (—ee, 0) H GRIAH

—

[ ]

. (~. 0) H THAM, [0, o) T FTHH

. P%_Q‘-ﬁaﬁnﬁ [—f%l}ﬁaﬂmﬁ

L8]

)
4. x & g arafds 71 & fod gragE

Options :

485584143285. 1
485584143286. 2
485584143287.3
485584143288. 4

Question Number : 58 Question Id : 48558435823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQl

.
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The value of J(Sx - 2)3 dy 1s:

L. 3{(5x — 2) + C ; C 1s constant of integration.

| )

3. (5x— 2.)4 + C : C i3 constant of integration.

- Gt a} 4 d : :
4. f-.:‘x,,_‘:.] _+: C is constant of integration.

20

Options :

485584143289. 1
485584143290. 2
485584143291.3
485584143292. 4

) . . .
. 15(5x —2)* + C : C 13 constant of integration.

Question Number : 58 Question Id : 48558435823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

I(Sx— 2)3 dx PT Iﬁ:f%-

1.3(5x—2)+ C:C GHAH T 3 &

[

L]

15(5x—2)2 + C : C THIDE 3§

(5x—2)*+ C ; C GHTHTH 3R g

4. (5x=2) . C GHIHEH SRR g

20

Options :

485584143289. 1
485584143290. 2
485584143291. 3
485584143292. 4

Question Number : 59 Question Id : 48558435824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

-
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Area bounded by y = |x — 5| and x-axis between x = 2; and x =4 1s:

1.5

|

4

4.6

Options :

485584143293. 1
485584143294. 2
485584143295. 3
485584143296. 4

Question Number : 59 Question Id : 48558435824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

y=bh—3 x-3& Td x =2 F x =4 Y R & BT &4 &:

1.5

[ ]

4

4.6

Options :

485584143293. 1
485584143294. 2
485584143295. 3
485584143296. 4

Question Number : 60 Question Id : 48558435825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

-
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- 3
f 2 : . : .
19,4 2| —7. then the sum of order and degres of the differential equation is:

dr\ dr” J
1.3

D

4.4

Options :

485584143297. 1
485584143298. 2
485584143299. 3
485584143300. 4

Question Number : 60 Question Id : 48558435825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

P,
f T

qﬁ d 2..-.1" {
del dx” )

E

5]
[

4.4

Options :

485584143297. 1
485584143298. 2
485584143299.3
485584143300. 4

_+. B Ol 3P d D Dilc UG UTd &I ITHd &:

Question Number : 61 Question Id : 48558435826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

-
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d 4
The equation of the curve whose slope 1s given by —- o l—‘ x =0, v > 0 and which passes through the poimnt
(2. 2) is: -

Ly?=4x-12

.
-
I
ey
sy
I
|
—
(]

3.2 =4x2+ 12
4 x* =4+ 12
Options :

485584143301. 1
485584143302. 2
485584143303. 3
485584143304. 4

Question Number : 61 Question Id : 48558435826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

saawmaﬁwm%ﬁmw-=— x>0,y > 08l qUT ol fag (2, 2) B ToRAT &L

2.0 =47 12
3.7 =4+ 12

2 2
4 x=47112

Options :

485584143301. 1
485584143302. 2
485584143303. 3
485584143304. 4

Question Number : 62 Question Id : 48558435827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

-
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A random variable has the following probability distribution

P, 2 3 4
PX =x,) 4k k Sk

LA

]
P

The value of P(X < 3) 1s:

| )

E|‘-“ N B S E|_

Options :

485584143305. 1
485584143306. 2
485584143307.3
485584143308. 4

Question Number : 62 Question Id : 48558435827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl1

TS dTefos® 9% &1 Wiidddl g -id (a1 T g

X = x; 2 3 4
P(X =x,) 4k k Sk

LA

-
=

P(X<3)BAAE

_[\_J

|uu L ) e e

]

Options :
485584143305. 1 gcollegedunias

India’s largest Student Review Platform



485584143306. 2
485584143307. 3
485584143308. 4

Question Number : 63 Question Id : 48558435828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ1

If a discrete random variable X has the following probability distribution:

2 4
KA — 1 -

3 3
P(Xj cl c‘j’ L
then ¢ 1s:

b | —

[

ek | —

-

b
Options :
485584143309. 1
485584143310. 2

485584143311.3
485584143312. 4

Question Number : 63 Question Id : 48558435828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ1

.
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gfe 3ridd Oefeee =R X 1 Uied s §:

X

|

bl o | b2

=)

P(Xj C ' C

?‘ﬁcﬁrﬂ'_‘l%:

b | —

| )
[

Options :

485584143309. 1
485584143310. 2
485584143311. 3
485584143312. 4

Question Number : 64 Question Id : 48558435829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl

The maximum value of Z= 3x + 4y subject to constraint x ~ y<6.x, y = 01s ;

1.18

[
)
]

4.24

Options :

485584143313.1
485584143314.2
485584143315.3
485584143316. 4

Question Number : 64 Question Id : 48558435829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Q

collegedunias
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Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

AU x +y<6. %, y = 0d I Z= 3x + 4y BT HUHIH T4 ©:

1. 18

| ]
[ ]
=

L@ ]
o
o)

4. 24

Options :

485584143313. 1
485584143314.2
485584143315.3
485584143316. 4

Question Number : 65 Question Id : 48558435830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

For the problem max Z = ax + by. x = 0. ¥ = 0. which of the following is NOT a valid constraint to make 1t a

linear programming problem?

1.x=5y<10
2. 2x+3y=60
J.x+2y<40

Options :

485584143317. 1
485584143318. 2
485584143319.3
485584143320. 4

Question Number : 65 Question Id : 48558435830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

-
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T HUHTHERO Z = ax + by, x = 0, y = 0 P 00,54 AP T 9991 &1 & fou, Fefaa a9

19 I UH 9% Y T8l 5

i

5.y<10

w

1l.x=

| S

C2x+ 3y =60

[ 5]

x+2y<40

-

4.x2 +y<50

Options :

485584143317. 1
485584143318. 2
485584143319.3
485584143320. 4

Core Mathematics

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

485584931
2

Online
Optional
35

25

125

Yes

0

1
4855842648
Yes

null

Question Number : 66 Question Id : 48558435831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

For real numbers a and b, define aBb if b—a+ *Jrg 15 an irrational number. Then the relation B 1s:

1. Symmetric

|

. Reflexive
3. Transitive
4. Equivalence

Options :

.
gcollegedumas
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485584143321. 1
485584143322.2
485584143323.3
485584143324. 4

Question Number : 66 Question Id : 48558435831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

a TUT b Afae T3l & [0, aRb 29 YR URMING € 3 b — a + /5 3rafid T € ot ddy R 8h:
1. gHiHT

- aded

3. GblHS

| ]

4. e

Options :

485584143321. 1
485584143322.2
485584143323.3
485584143324. 4

Question Number : 67 Question Id : 48558435832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

The domain of the function f(x) = log (x* —4) is :

1.[2, »)

| ]

(=0, -2) U (2, )
3. (2, )
4. (o0, -2] U (-2,-1)

Options :

485584143325. 1
485584143326.2
485584143327. 3
485584143328. 4

.
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Question Number : 67 Question Id : 48558435832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

HdH f(x) = log (xz——ﬂﬁ;ﬂﬁ%i

1. [2, =)

| )

A=, =2) U (2. )
3.(2, =)
4, (=, 2] U (-2.-1)

Options :

485584143325. 1
485584143326. 2
485584143327. 3
485584143328. 4

Question Number : 68 Question Id : 48558435833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

Domain of function f(x)=cos 'v2x-1 is

1L,1]

1.

I\..l

}
d

I‘-J"—

g
&
{
[z

L.u

N|—

M—

Options :

485584143329. 1
485584143330. 2
485584143331.3
485584143332. 4

Question Number : 68 Question Id : 48558435833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details : Qcol Ieged unia:
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Key

Value

Comprehension

MCQ2

WA £ (x) =cos ' Zx—1 I U §

L[-L1]

| )
| —

[F5]
b | —

{
{
{
|

[ |
b

Options :

485584143329. 1
485584143330. 2
485584143331.3
485584143332. 4

Question Number : 69 Question Id : 48558435834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

The value of tan(cos'x) is:

| ]
I
-

Options :

485584143333. 1
485584143334. 2
485584143335.3
485584143336. 4

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

L
‘?‘
=
b2

% collegedunias

Question Number : 69 Question Id : 48558435834 Question Type : MCQ Option Shuffling : No Is Que)ic'on Mandatory :
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Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

tan(cos1x) BT HH %:

1. —
X
2
2 | i
X
< 2
3. l + X
X
X
4. B
| —x~
Options :

485584143333. 1
485584143334.2
485584143335.3
485584143336. 4

Question Number : 70 Question Id : 48558435835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

x-y 1 =2
If the matrix|2x—¥ 0 3 | is skew-symmetric, then values of x and y are respectively

2 =3 0

b | —

!_d
—
| =—

4.-1.-1

Options :
485584143337. 1
485584143338.2

485584143339. 3 .
% collegedunias
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485584143340. 4

Question Number : 70 Question Id : 48558435835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
x=y 1 =2

afg 3 (2x—y 0 3 | a9 GOfid 8 O « 9Ty 1 BHRE: T g1
2 -3 0
ik
2

2' ].n l

2
3. 11
4.-1.-1

Options :

485584143337. 1
485584143338.2
485584143339.3
485584143340. 4

Question Number : 71 Question Id : 48558435836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

2 3 :
If A= i and A% — 3A + kI = 0 then the value of k is:

1.5

| ]
L%

Lad
L

4. -3

Options :

485584143341. 1
485584143342. 2
485584143343.3
485584143344. 4

-
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Question Number : 71 Question Id : 48558435836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

A= 21 fatn.az—sA—kl=o%a?kaa‘rnH€hﬂ-

1.-5

| ]
[#F¥]

LIPS
L

4.3

Options :

485584143341. 1
485584143342. 2
485584143343.3
485584143344. 4

Question Number : 72 Question Id : 48558435837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
[1 3 0 Vi1 0
IfA=/-v3 1 0|andB=|-1 3 0|thenABis equal to :
0 0o 2 0 D 2
1.41
2.1
[0 0 4]
3. 4 0
i 4 0 U_
[0 4 0
4.4 0 0
_U 0 4_
Options :

485584143345. 1
485584143346. 2

485584143347, 3
485584143348, 4 Qcollegedunias

India’s largest Student Review Platform



Question Number : 72 Question Id : 48558435837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

1 30 b3 10
gfida= 3 1 o|dUB=|-1 3 o|dl AB SR BIII-
0 0o 2 0 o 2

Options :

485584143345. 1
485584143346. 2
485584143347.3
485584143348. 4

Question Number : 73 Question Id : 48558435838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

Which of the following 1s a correct statement ?
1. Determinant is a rectangular arrangement of numbers.
2. Determinant is a square arrangement of numbers.
3. Determinant 1s a value assigned to a square arrangement of numbers m a specific manner
4. Determinant 1s sum of diagonals elements of a square arrangement of numbers
Options :
485584143349. 1

485584143350. 2
485584143351.3

485584143352. 4
Qcollegedunias
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Question Number : 73 Question Id : 48558435838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

g9 9 S Y T8l §:
1. IR0, T3l &7 Aaam HH GO B

2. ORI, el & aieR ®H GO gl
3. GRI0IE, BT AT =01 & FPR HH [0 1 a9y UoR 22 9 3ar gl

4. gRIUI%, T=O13ii & anieR ®F [d09 © fawul & agdl sram siar gl

Options :

485584143349. 1
485584143350. 2
485584143351.3
485584143352. 4

Question Number : 74 Question Id : 48558435839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

cos’0 cosOsin® 0
The value of the determinant |-sint  cost# 0] is equal to
] 0 1

| ]

.cos B

. cos 268

[¥5]

4 cosB—sm®b

Options :

485584143353. 1
485584143354. 2
485584143355. 3
485584143356. 4

Question Number : 74 Question Id : 48558435839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details : .
% collegedunias
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Key

Value

Comprehension

MCQ2

cos® 0 cosfisin® 0 -
TR [-siné cosp O BTAMT

0 ] 1

| ]

.cos @

. cos 26

L]

4 cosB—smnf

Options :

485584143353. 1
485584143354. 2
485584143355. 3
485584143356. 4

Question Number : 75 Question Id : 48558435840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

IfA=(2.3).B=(-1, 0). C=(4. 6) then area of the parallelogram ABCD 1s:

1.3

]
b | e

L]
o

4.2

Options :

485584143357. 1
485584143358. 2
485584143359. 3
485584143360. 4

Question Number : 75 Question Id : 48558435840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

-

collegedunias
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A% A=(2,3). B=(-1,0),C = (4. 6) § 0 GHAFR 9gHS ABCD FT &5 5T

1.

Tad

| S

b | L

L]
N

4.2

Options :

485584143357. 1
485584143358.2
485584143359. 3
485584143360. 4

Question Number : 76 Question Id : 48558435841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

2

JEI—I. x<l1
Let f(x)=] 1 , x=1
l x° , x5]

thenatx =1

L. f(x) is continuous from left only

2. f(x) is continuous from right only

3. f(x) 1s continuous

4. f(x) has removable discontinuity

Options :

485584143361. 1
485584143362. 2
485584143363.3
485584143364. 4

Question Number : 76 Question Id : 48558435841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

-
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Ax=1T

1. f(x) Pdd GU TP Held

2. f(x) Bdd g TP Jdd
3./() WA ©
4. f(x) 30T 3Idd g

Options :

485584143361. 1
485584143362. 2
485584143363.3
485584143364. 4

Question Number : 77 Question Id : 48558435842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
2 r
If = EJ""P-"+"" 0% x> ( then i; 18

e

4.

Options :

485584143365. 1
485584143366. 2
485584143367.3
485584143368. 4

dx”

Question Number : 77 Question Id : 48558435842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

-
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Key Value
Comprehension MCQ2

-8
afg _  yredte10% x>0 gAY aAe-

dx”

_L.."

L¥S]

4.2

Options :

485584143365. 1
485584143366. 2
485584143367.3
485584143368. 4

Question Number : 78 Question Id : 48558435843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

The derivative of f (cot x) with respect to g (cosecx) atx = % (where /'(1)=2g '{\E) =4 1s:

L2

2.1

Options :

485584143369. 1
485584143370. 2
485584143371.3
485584143372. 4

Question Number : 78 Question Id : 48558435843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

.
s
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T Ay

x == (o8l /(1) =2.,q'(\5) =4) TR g (cosec x) P TTUE f(cot x) BT B G-

4

L.z

| ]
[

Options :

485584143369. 1
485584143370. 2
485584143371.3
485584143372. 4

Question Number : 79 Question Id : 48558435844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

The values of b for which the function f(x) = cos x + bx + a decreases on R are

L. [-1.1]
2. (—m, 1]
3. (—=, —1]
4. (-1, 1)
Options :
485584143373. 1
485584143374. 2

485584143375. 3
485584143376. 4

Question Number : 79 Question Id : 48558435844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

-
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b & T O TR BT £(x) = cos x + bx + 2 G IRAMGH Taamaf R gHHHA &-

1.[-1.1]

| ]

. (—oo, 1]

[¥%]

(=, —1]
4 11

Options :

485584143373. 1
485584143374. 2
485584143375.3
485584143376. 4

Question Number : 80 Question Id : 48558435845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

The equation of the normal to the curve y = 2sinx at (0, 0) 1s:

l..\+% =0
2.x-2y=0
3 \—E_p:@
4. x+2y=0
Options :

485584143377. 1
485584143378. 2
485584143379. 3
485584143380. 4

Question Number : 80 Question Id : 48558435845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

-
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a3 = 2sinx D (95, (0. 0) TR ST BT FHDI 5

1
1._\+5J.'=0
2.x-2y=0
5 1
J.x——p=0

X 2}
4. x+2y=0

Options :

485584143377. 1
485584143378. 2
485584143379. 3
485584143380. 4

Question Number : 81 Question Id : 48558435846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

4 2

The function f(x)=" has

_1-
4 2

L. 2 points of local maxima

[

[ 5]

4. 1 pont of local maxima and 1 point of local minima

Options :

485584143381. 1
485584143382. 2
485584143383.3
485584143384. 4

. 2 points of local minima and one point of local maxima

. 1 point of local minima and 2 points of local maximum

Question Number : 81 Question Id : 48558435846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

-
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4 i
W_,«-(_r_}:-: -z |

Ly I=Eg S dfeg

2. WG Y & < 9y RIFHY Sy &1 U fog,
3. R (AfEN &1 U qur =i 3f=m & 9l fag,
4. R 3N &1 U auT wHD Hiy F1s o,

Options :

485584143381. 1
485584143382.2
485584143383. 3
485584143384. 4

Question Number : 82 Question Id : 48558435847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

1
The value of I 3.(2 [r] dx is:
-1

| )

L N]
(R

Options :

485584143385. 1
485584143386. 2
485584143387.3
485584143388. 4

Question Number : 82 Question Id : 48558435847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

-
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j. ¥’ [1] dx BT B:
~1

e | =

| 3]

L | b2

a=2

a
Options :
485584143385. 1
485584143386. 2
485584143387.3
485584143388. 4

Question Number : 83 Question Id : 48558435848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

2
The value ofj xE |2;r| dx is:
-3

1. 65

| ]

65
2

.97

]

97

2

Options :

485584143389. 1
485584143390. 2
485584143391.3
485584143392. 4

Question Number : 83 Question Id : 48558435848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

.
s
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| S

LN ]
L=
-1

9

2

b |

Options :

485584143389. 1
485584143390. 2
485584143391. 3
485584143392. 4

Question Number : 84 Question Id : 48558435849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

. il .
Area lying between the curves y* = 9x and y = 3x 1s:

[a—y

. — sq. units

. units

-2
I
e
=]

]

. units

E.H
L | b2

e

=

4. — 5q. units

Options :

485584143393.
485584143394,
485584143395.
485584143396.

AW N~

Question Number : 84 Question Id : 48558435849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

.
s
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d }-'ZZQxH?-H}'ZSX@m &1 &1 &A% B

1. — sq.

_[\_J
b | = | =

w
| 2
o
=t

Ead | =t

Options :

485584143393.
485584143394,
485584143395.
485584143396.

units

. units

5. units

. units

AW N —

Question Number : 85 Question Id : 48558435850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ2

Area lying in first quadrant and bounded by the circle x* + 17 = 9 and the lines x = land x = 3 is:

| )

Q9r

Lad

Options :

9
: (}H—ﬁ—gsin ’

9 ., _
|—++2 —==sin
)

9 9 1
4, i JE -510 :
4 2 3

485584143397. 1
485584143398. 2
485584143399. 3
485584143400. 4

1. 2% 2 g-sin_I lsq. units
2 4 3

5q. units

| —

5q. units

ad | —

5q.units

Question Number : 85 Question Id : 48558435850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

-
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Key Value
Comprehension MCQ2

qel x2 +32 = 9 Ud @8l x = 1. x = 3 I e qur vy Iquiy 3 Y &3 o1 475 sh-

1. o J2 gsin_] ;sq. units

2 4
| .
2 ()FT—\E——H]H ]Esq. units
3: 2 /2 —=sin™! lsq. units
4 2 3

4. o J2 2sin_] ;sq.units

Options :

485584143397. 1
485584143398. 2
485584143399. 3
485584143400. 4

Question Number : 86 Question Id : 48558435851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

: : . ody ) :
The integrating factor of sin 1T +2Vcosx=4 1s:
dx

1. lsinx

| ]

. 2
. |51 X|

. ¥
. |s1n X

[¥]

4, |cosx

Options :

485584143401. 1
485584143402. 2
485584143403. 3
485584143404. 4

Question Number : 86 Question Id : 48558435851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value n l as
OG India’s largest Student Review Platform




|C0mprehension |MCQ2

sin .r?+2_l’cus,r= 4 P THID AT TP %:
x

| ]

[¥¥]

4.

Options :

sinx
)
. |sin x|©

. ¥
. 81N X

CO5 X

485584143401. 1
485584143402. 2
485584143403. 3
485584143404. 4

Question Number : 87 Question Id : 48558435852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
The solution of the differential equation — =—— 1s:
i '

2 ) .\ i ] :
1. x= + 3~ =2C, where C 1s constant of integration.

| ]

3. x* +y=2C, where C is constant of integration.

] ’) ‘ i i ’
4. x= —y* = 2C, where C 18 constant of integration.

Options :

) p ik ; ’
.x—y~=2C, where C 1s constant of integration.

~

485584143405. 1
485584143406. 2
485584143407. 3
485584143408. 4

Question Number : 87 Question Id : 48558435852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension MCQ2

-
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AT THIBR §=—'—" EANG RS
x ¥

¥

1.x2 +32 =2C, C U JHID T DI 3R 5

| )

3. 32 +y=2C, C TP GHHT &1 AW g

2

4.2~y =2C, C UH GHIDA T R g

Options :

485584143405. 1
485584143406. 2
485584143407. 3
485584143408. 4

x—*=2C. C TP GHSHAT B A gl

Question Number : 88 Question Id : 48558435853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

If |d| =5, |4’r" =2 and ‘d b

1.5

2.6

.36

LN ]

4. =6

Options :

485584143409. 1
485584143410. 2
485584143411. 3
485584143412. 4

=8 then the value of |ax b is:

Question Number : 88 Question Id : 48558435853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

-

collegedunias
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afE fil=5.[¢|=2 TUT|a-b|=8T |axb| PTAAE:

1.5

2.6

3. 36

4, +6
Options :
485584143409. 1
485584143410. 2

485584143411.3
485584143412. 4

Question Number : 89 Question Id : 48558435854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

If|.5- + b| =15 |E‘ —b'| =10, |E.-| = % then the value of ‘b'| is/are :

| ]

Laa

H
d

L,

Options :

485584143413. 1
485584143414.2
485584143415.3
485584143416. 4

Question Number : 89 Question Id : 48558435854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

-

collegedunias
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5| 1A B

afe |a+b'|=!5.|ﬁ—Eﬁ|=lD.|ﬁ|=%?ﬁ

tu“_‘;j

)
3
[ | o]

Options :

485584143413. 1
485584143414.2
485584143415. 3
485584143416. 4

Question Number : 90 Question Id : 48558435855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
The angle between the straight lines = B 'VTS G and *— A S ek 15
5 = 2 5 0 2 10

1. 45°
2.90°
3. 30°
4. 60°

Options :

485584143417. 1
485584143418. 2
485584143419. 3
485584143420. 4

Question Number : 90 Question Id : 48558435855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

-
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4. 60"

Options :

485584143417. 1
485584143418. 2
485584143419.3
485584143420. 4

Question Number : 91 Question Id : 48558435856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

; ; ; ; . . =7 y+17 z-6 x+5 y+3 z-4
The direction ratios of the line perpendicular to the lines = . 221 - and > ] :
proportional to:

L. 7.4:5

2.7.5.4

L]
il

5.7.4
4.54,7

Options :

485584143421. 1
485584143422. 2
485584143423.3
485584143424. 4

Question Number : 91 Question Id : 48558435856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

.
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e 1T 2T 26 "';5 - -":3' " :‘64$¢|m a1 o few-3rurd -

1. 7,4, 5

| ]

7.5, 4
3.5,7.4
4.5.4,7

Options :

485584143421. 1
485584143422.2
485584143423.3
485584143424. 4

Question Number : 92 Question Id : 48558435857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

The maximum value of Z = 2x + 3y subject to the constramts x > 0, y =2 0: x + ¥ = 10, 3x + 4y < 36 18

1.20

| ]
)
o |

4.0

Options :

485584143425. 1
485584143426.2
485584143427.3
485584143428. 4

Question Number : 92 Question Id : 48558435857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

.
Qcollegedumas
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UMl x = 0,y 2 0:x + p < 10, 3x + 4y < 36 T AT Z = 2x + 3y BT AUHIH A &

1. 20

[
[ ]
|

L@ ]
L]
o

4.0

Options :

485584143425. 1
485584143426. 2
485584143427. 3
485584143428. 4

Question Number : 93 Question Id : 48558435858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

For the LPP, Min Z= 5x + Ty subject to x = 0, y = 0: 2x + y = 8, x + 2y = 10, the basic feasible solutions are:

1. (0, 0). (10, 0). (2. 4) and (0, 8)

|

.(10. 0), (2. 4) and (0. 8)
3. (0. 0). (0. 10). (2, 4) and (8. 0)
4. (0, 10), (4, 2) and (8. 0)

Options :

485584143429. 1
485584143430. 2
485584143431.3
485584143432. 4

Question Number : 93 Question Id : 48558435858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

.
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LPP & foR), TRIUT x 2 0,y 2 0: 2x + p 28, x+ 2y > 10 & 31T Z = 5x + 7y & gAY & {0, JE=
JEA A 5

1. (0, 0), (10, 0), (2. 4) TUT (0. 8)

[

(10, 0), (2. 4) TYT (0, 8)
3. (0, 0). (0, 10). (2, 4) TYT (8. 0)
4. (0, 10). (4, 2) TUT (8. 0)

Options :

485584143429. 1
485584143430. 2
485584143431.3
485584143432. 4

Question Number : 94 Question Id : 48558435859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

A bag contaimns 12 white and 18 red balls. Two balls are drawn 1n succession without replacement. The
probability that the first is red and second is white is:

63
145

36
154

36
144
36
145

!_q

Options :

485584143433. 1
485584143434. 2
485584143435.3
485584143436. 4

Question Number : 94 Question Id : 48558435859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2
Q, collegedunias
India’s largest Student Review Platform




% Ud H 12 T T 18 @@ TiE 8| &1 g 51 ufamme & SRR Al 18l ugdl T & ord aul
SO & Ghg giH B wiiddar ghfl-

63
145
36
154
36
144

36
145

[

L¥ ]

Options :

485584143433. 1
485584143434.2
485584143435. 3
485584143436. 4

Question Number : 95 Question Id : 48558435860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
If A and B are events such that P{ 4l B") =% and P(AlJB)= ;—: then the value of P(4") + P(B") 1s:

1.1

i

9

.8

-j . —

9

4.2

9

Options :

485584143437. 1
485584143438. 2
485584143439. 3
485584143440. 4

Question Number : 95 Question Id : 48558435860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value

.
s

He nia:
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|C0mprehension |MCQ2

ATUTB I USRI Ued g b p(aU 3']:%?[%{[ P{AUEJ:% dl P(4) + P(B') T 01 BT

1.1

[

E..u
O th Wl o=

Options :

485584143437. 1
485584143438.2
485584143439.3
485584143440. 4

Sub-Section Number : 2
Sub-Section Id : 4855842649
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 96 Question Id : 48558435861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl

Let f: . — E. be defined by f(x) = x*. for every x € E. Then fis:
1. one-one and onto
2. one-one and not onto
3. neither one-one nor onto

4. onto and not one-one

Options :

485584143441. 1
485584143442.2
485584143443.3
485584143444. 4

Question Number : 96 Question Id : 48558435861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value

.
s
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|Comprehension

|C0mp1

AR £ 2 =5 f) =2 ERITRUIRA 81 S8l x e 2. T £ &
US| YT SHBIED
ATl THBISAR A HDGH

[

| R

L8]

s

Options :

485584143441. 1
485584143442.2
485584143443.3
485584143444. 4

 HTEITED & fdomg Uarat el

Question Number : 97 Question Id : 48558435862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
Match List I with List IT
LISTI LISTII
) .
A i tan ! S lj (Il L 3 :
d.r_ 1-3x" } 1+x°
dl . sli=#") =
B. |—]| cos k 7| II. 3
dx| 1+x° ) 1+x°
= \ 2
C. |—]| cos III.
dx | L 1+x2 )} 1+a%
= 0 -
~ d coft] 3x _xj e |22
ax 1-3x" | 1+x°

Choose the correct answer from the options given below:
1. A-IL. B-III. C-I. D-IV
2. A-IV. B-1I. C-I, D-III
3. A-IIIL B-1. C-IV, D-II

4. A1, B-IV. C-III, D-II

Options :
485584143445. 1
485584143446.2

.
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485584143447. 3
485584143448. 4

Question Number : 97 Question Id : 48558435862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Compl

= 1 BT g 11 i ifore

i

T o

A |— tan ™ [

Ix—x
1-32 )

3

2
1+x°

d _1[
B.|—|cos

pp )
1+x% )

1L

3 s cos ! [

2x q
1+x2 )

IIL.

2
1+x°

D |— cot™!
ax

3x—x |
1-3x% )

IV

2

2
1+x°

fFafaiad famed & ¥ Uet ST &1 997 B

1. A-IT. B-III. C-1, D-IV

|

L]

4. A-l. B-IV. C-III. D-IT

Options :

485584143445. 1
485584143446.2
485584143447.3
485584143448. 4

ATV, B-IIL C-1, D-III

AL B-IL C-IV, D-II

Question Number : 98 Question Id : 48558435863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Compl

-

collegedunias
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The points of non differentiability of f(x)=x—2/+[x -3

Mmoo W
L O e

Choose the correct answer from the options given below:

1. Aand B only

| ]

. B and C only

Lad

. Aand C only
4. A and D only

Options :

485584143449. 1
485584143450. 2
485584143451.3
485584143452. 4

Question Number : 98 Question Id : 48558435863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl

f@)=le—2/+x—3| B A Tog 5 R spawa-ia 781 8:

g ==

MmUY QW
[ S )

At o famed! 1 U8t IR &1 987 B
1. %dc A 3R B

P B AR C

3. PadAARC

4, %9d A IR D

Options :
485584143449. 1
485584143450. 2

485584143451, 3 Qcollegedunias

India’s largest Student Review Platform
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485584143452. 4

Question Number : 99 Question Id : 48558435864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
dx ,
The value of ——————— 18
xe— 6%+ 15

3 i ; ;
+ C. where C is constant of integration.

._.

2 |
S
a3
=t

2
=
|

i
-_..
|
[

+C. where C 1s constant of integration.

+ C. where C is constant of integration.

L]
|
S
=]
=)

+C . where C is constant of integration.

Options :

485584143453. 1
485584143454. 2
485584143455.3
485584143456. 4

Question Number : 99 Question Id : 48558435864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl

J‘ ax g
x2 —6x+13 '
x—3

lant X=3 ., ¢. C U 9o ed &7 SRR B

"4 5

[a—y

Zeot X234 ¢ € U HIBTH BT R B

| )

: %tan-l X3 oL C U UG BT R B

2

L]

o133 o U g BT SR B

2

2 #s
gcollegedumas
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Options :

485584143453. 1
485584143454.2
485584143455.3
485584143456. 4

Question Number : 100 Question Id : 48558435865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl

If x and y are two collinear vectors, then which of the following are incorrect ?
l.x=%y
2. y= Jx . for some scalar }.
3. Both the vectors x and 3 have same direction, but different magnitudes.

4. the respective components of x and y are not proportional

Options :

485584143457. 1
485584143458.2
485584143459. 3
485584143460. 4

Question Number : 100 Question Id : 48558435865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl

A 3 T 5 S R IR S @ P A P R R

lLy=%y
2. y=0y. . feRI®
3. S WGR ¥ U1y, T €1 3= H § tReg AIuis el 8

4. 3 SR % e e YHMHUM 6l 6

Options :
485584143457. 1
485584143458. 2

485584143459. 3 Qcollegedunias

India’s largest Student Review Platform



485584143460. 4

Applied Mathematics
Section Id : 485584932
Section Number : 3
Section type : Online
Mandatory or Optional : Optional
Number of Questions : 35
Number of Questions to be attempted : 25
Section Marks : 125
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 4855842650
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 101 Question Id : 48558435866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

The present value (in Z.) of a perpetuity of 2.3600 payable at the end of each quarter, if the interest rate is
9% per annum compounded quarterly, 1s:

1.22.40,000

| S

. 21.60,000
3.%2.00,000
4, 23,20,000

Options :

485584143461. 1
485584143462. 2
485584143463.3
485584143464. 4

Question Number : 101 Question Id : 48558435866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

.
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e faTel & ofd T 20 e Tad Wi 2.3600 &1 I49 Heg Ofg anftfes suret &R 9% ot St faargt

IHATG 6.6:

1.22.40,000

| S

. 2£1,60,000

. 22.00,000

[ 5]

4.33.20,000

Options :

485584143461. 1
485584143462.2
485584143463. 3
485584143464. 4

Question Number : 102 Question Id : 48558435867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

If the present value of a perpetuity of 600 payable at the end of every six months 15 18000, then the rate of

mterest 1s:

20,
1. T% per annum

!_u'l
w33

% per ammnuim
LT,

3. —"% per annum
3
1

4. —% per annum
2

Options :

485584143465. 1
485584143466. 2
485584143467. 3
485584143468. 4

Question Number : 102 Question Id : 48558435867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

-
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Ui & A9 & 3id T &8 Had MR 2600 BT ToHH Hed 218000 8 dl &A1 B & 11T

b
120,
3

.z—fefsﬁﬁ_dﬁ

| S

5 %ﬁ»ﬁﬂﬁ’!ﬂ‘f

4. g%
>
Options :
485584143465. 1
485584143466. 2
485584143467.3
485584143468. 4

Question Number : 103 Question Id : 48558435868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

In a 800 m race. A beats B by 74 m and m a 600 m race, B beats C by 50 m. By how many meters will A beat

C in a race of 800 m?

1.234.5m

[

.84.06m
3. 134.5m
4, 665.5m

Options :

485584143469. 1
485584143470. 2
485584143471.3
485584143472. 4

Question Number : 103 Question Id : 48558435868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

-
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S0 HCR P UH ASHA . BHI 4 IR AT 51 600 TR B TH SIS A B, € 50 Hex g @ ol 800
Hex B s H A, ¢ & e Hiex I g

1.234.5 Tl
. 84.06 e
3. 1345 4R
4. 665.5 T

Options :

485584143469. 1
485584143470. 2
485584143471.3
485584143472. 4

[

Question Number : 104 Question Id : 48558435869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ3

For the data

sl 7 Price F
Varmble Base year Current vear Wtihts
X 30 50 8
¥ 10 15 7
Z 25 30 4

The weighted price index number 1s:

1. 152.44
2.150.44
3.154.44
4, 156.44
Options :
485584143473. 1
485584143474. 2

485584143475.3
485584143476. 4

Question Number : 104 Question Id : 48558435869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

|Key

Value

.
Q, collegeduinia:
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|Comprehension IMCQ3

i gu aifwsi & ford

HEd
HY

R TR T TAAT 99

X 30 50 8
Y 10 15

Z 75 30 4
F " %:

1.152.44

2.150.44

3.154.44

4. 156.44

Options :

485584143473. 1
485584143474. 2
485584143475. 3
485584143476. 4

Question Number : 105 Question Id : 48558435870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Comprehension

Value
MCQ?3

2 2 o 3 : :
A. B and C are partners in a business. A receives 3 of the total profit while B and C share the remainder

equally. A's profit 15 increased by 1,500, when the rate of profit 1s inereased from 10% to 12% n a year.
Then. B's share in the total profit is:

1

2

[#¥]

4

22,500

. 23.000

21,500

. 21.000

Options :

485584143477. 1
485584143478. 2
485584143479. 3
485584143480. 4

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 < COI Ieged unia:

India’s largest Student Review Platform

Question Number : 105 Question Id : 48558435870 Question Type : MCQ Option Shuffling : No Is (Qn Mandatory :



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

A BTUTC U IR T HIEER 51 A DI T a1 Bl %ﬁﬂﬁ%ﬁ@’%Bﬁ%ﬁcﬁﬁrﬁmﬁww-

SRTR AT § | ofd U @ 7 @ &1 2 10% F 12% 96 Sl & a6l A BT @1 21,500 96 ST 2| I8 Hd
ary H B &1 fewn &

1,322,500
2.33,000
3.%1.500
4.21.000

Options :

485584143477. 1
485584143478. 2
485584143479. 3
485584143480. 4

Question Number : 106 Question Id : 48558435871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

A loan of 2200000 at the interest rate of 6% p.a. compounded monthly is to be amortized by equal payments at
the end of each month for 5 years. The monthly payment 1s:

[Given (1.005)790 = 0.74137220]

1. 31.866.57

| ]

. 24.886.57

. £3.806.57

[¥ %]

4. 72.866.57

Options :

485584143481. 1
485584143482.2
485584143483.3
485584143484. 4

Question Number : 106 Question Id : 48558435871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

tion Key Details : i
Question Key Details Qcollegedunlas
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Key Value
Comprehension MCQ3

TS 2200000 1 B 6% AP TS & IR IS Thals I 5 aU g IS A9 & 3id § 99 [&rd &
U H g gl 91 <3 gl
1S4 8 (1.005)750 = 0.74137220]

1.21.860.57

-2

. 24,886.57
3.33.866.57
4.32,866.57

Options :

485584143481. 1
485584143482. 2
485584143483. 3
485584143484. 4

Question Number : 107 Question Id : 48558435872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

In reference to sampling. match List I with List IT

LISTI LIST IT

Measure of a characteristic of a sample [ |Parameter

|An assumption made about a population | 1T [Standard Error
Standard deviation of the sample ITT. |Statistic
Measure of characteristic of a population | IV, [Null Hypothesis

|| W=

Choose the correct answer from the options given below:

1. A-II. B-III. C-I, D-IV
2. AL B-IV, C-I1, D-1I
3. A-II. B-IV. C-III. D-I
4. A-II. B-1IL. C-IV, D-I

Options :

485584143485. 1

485584143486. 2

485584143487.3
485584143488. 4

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Y col Ieged unia:

India’s largest Student Review Platform

Question Number : 107 Question Id : 48558435872 Question Type : MCQ Option Shuffling : No Is (&v Mandatory :



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

e 1 61 =T 11 ¥ fHaH Sifo:

Gl T 11

AT & s PTAM | 1 | W

B. |t S ard s@qHAr | 1L | 9HS B

o S EARCIECACERE L. | wifees!

D. | §HP & ATHTE 0 1 AT IV. | 270 TR e

FFafeiad fdeedi d 9 Hgl IR &l 99 Sl -

1. A-IL B-III. C-1. D-IV

| )

AL B-1V, C-I1L, D-I

. A-IL B-IV, C-III, D-1

L S]

4. A-I1. B-III. C-IV, D-I

Options :

485584143485. 1
485584143486. 2
485584143487. 3
485584143488. 4

Question Number : 108 Question Id : 48558435873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

Mr. A took a loan of T 300000 at 10% annual mterest rate and paid ¥ 5000 as monthly mstalment under flat
rate system. What is the term of the loan?

1. 12 years

| ]

. 8 years

%]

. 10 years
4. 20 years

Options :
485584143489. 1
485584143490. 2

485584143491.3 .
% collegedunias
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485584143492. 4

Question Number : 108 Question Id : 48558435873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

ST A7 2 300000 BT B 10% dTfle sars B ax Y ferar SR (Ed sarel & 9 2 5000 ST A1 fbwd
I BT | B0 B JHY-Haly FT7 87

1. 1299
g ay
31099
420494
Options :
485584143489, 1
485584143490, 2

485584143491. 3
485584143492. 4

[ ]

Question Number : 109 Question Id : 48558435874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

The percent income of a year on 6% debentures of face value of 2100 available in the market for 2200 1s:

1. 3%

[
=S
\‘?
(=]

4. 6%

Options :

485584143493. 1
485584143494. 2
485584143495.3
485584143496. 4

Question Number : 109 Question Id : 48558435874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details : W col Ieged unia:

India’s largest Student Review Platform



Key Value
Comprehension MCQ3

2100 3ifoPd G & 6% HUIGA!, FSHHT S6R Ged 2200 § 0 S9! UH a4 &1 Uia=Id 314 5:
1. 3%

2. 4%

Lad
]
=
(=]

4. 6%

Options :

485584143493. 1
485584143494. 2
485584143495. 3
485584143496. 4

Question Number : 110 Question Id : 48558435875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

The effective rate equivalent to a nominal rate of 8% per annum compounded semi-annually 1s:

1. 8.20%

| -]

. 8.24%
3. 8%
4, 8.16%

Options :

485584143497. 1
485584143498. 2
485584143499. 3
485584143500. 4

Question Number : 110 Question Id : 48558435875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

.
gcollegedumas
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A X 8% AT ol f&s Sfefartie amafe 8 &1 vyl & 8l

1. 8.20%

| )
oo
[ ]
=
N
o

L@ ]
%
=

4. 8.16%

Options :

485584143497. 1
485584143498. 2
485584143499. 3
485584143500. 4

Question Number : 111 Question Id : 48558435876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

Ravi takes 40 seconds whereas Vishnu takes 60 seconds to complete 240 metre race. By how many metres

does Ravi defeat Vishou ?

1. 80 metres

[

. 60 metres
3. 70 metres
4, 50 metres

Options :

485584143501. 1
485584143502. 2
485584143503. 3
485584143504. 4

Question Number : 111 Question Id : 48558435876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

-
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240 IR @1 &1 Q40 YHUS H Taidh [TW] 60 YHvs J Gl ol ¢ | Ifd 7 7] 1 e diex 1 g

1. 80 HieR
2. 60 HIcR
3. 70 HieR
4. 50 4lex

Options :

485584143501. 1
485584143502. 2
485584143503. 3
485584143504. 4

Question Number : 112 Question Id : 48558435877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ3

The price of five different commodities for year 2018 and 2019 are as follows:

Price in Price in
Commodities 2018 2019
(in T) (in T)
A 4 8
B 3 9
C 2 6
D 6 9
E 2 4

The price index number for the year 2019 with 2018 as the base year. using simple average of price relatives

15,

1. 230

Options :

485584143505. 1
485584143500. 2
485584143507. 3
485584143508. 4

Question Number : 112 Question Id : 48558435877 Question Type : MCQ Option Shuffling : No Is
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

% collegedunias

Quiition Mandatory :
India’s largest Student Review Platform



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

fafirs v @t oagait @t ad 2018 dUT 2010 P FHAFE

gege (2018 H e | 2019 A
cH (&)
A 3 8
B 3 9
C 2 6
D 6 9
E 2 4

O] & W S{d & SR U 2018 T YR T8 HGR, a4 2019 BT Jod JADidh 501 R

1.230

]

203
3.233
4. 320

Options :

485584143505. 1
485584143506. 2
485584143507. 3
485584143508. 4

Question Number : 113 Question Id : 48558435878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

A boat can row upstream at 10 km'h and downstream at 18 km/h. If m 1s the speed of boat in still water and n
is the speed of stream then m-n 1s:

1. 16 km/h
2. 18 km'h
3. 20 km/h
4. 14 kmvh
Options :

485584143509. 1
485584143510. 2

485584143511.3 .
% collegedunias
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485584143512. 4

Question Number : 113 Question Id : 48558435878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

TS =19 10 foHl/ e I 39Rwag dul 18 faiser 9 Ay varg | 1fd odl g1 af A1 &t wig 9a § 9rd

m JYUT YRT B UaTe § 91 n 81 dl m+n B HE BHT:

1. 16 fpdTder
18 fpdider
3. 20 foedder
4. 14 f&dider
Options :
485584143509. 1
485584143510, 2

485584143511.3
485584143512. 4

[ ]

Question Number : 114 Question Id : 48558435879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

Pipes A and B can fill a tank in 40 hours and 50 hours respectively and pipe C can empty the full tank in 60
hours. If all the pipes are opened together, how much time (in hours) will be needed to fill the tank ?

133
17

2.35
17

Options :

485584143513.
485584143514.
485584143515.
485584143516.

B WO~

-
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Question Number : 114 Question Id : 48558435879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

TISY A TUT B Teh €61 DI hHTI: 40 He TYUT 50 IS H 4R T & 3R WgY ¢ T EB1 Bl 60 e F @Tell B
ol § | afe Tl Ig0l &1 T 1Y @i fean o &t bt & 1 4R H fdha- 9o @y

[
et
Lh

L S]
L

Options :

485584143513.
485584143514.
485584143515.
485584143516.

AW N~

Question Number : 115 Question Id : 48558435880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

-

collegedunias

India’s largest Student Review Platform



o B o ; :
For the formula 1= —= > consider of the following statements:

1, B2

i TS o8

.,
A. ny and p, are sample mean and population mean respectively.
B. n; and n, are sample sizes of two samples from same population.
C. S; and S, are sample means of two samples from same population.
D. 8, and S, are standard error of two samples from same population.
E. n; 1s the sample size and n, 1s the population size.

Choose the correct answer from the options given below:

1. B and D only

[

.A.Band D only
3.B. Cand D only

4. A and E only

Options :

485584143517. 1
485584143518.2
485584143519.3
485584143520. 4

Question Number : 115 Question Id : 48558435880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

.
Qcollegedumas
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T t=— 2 ¥ fa, Feflea su o1 fER Sifm:

2 2
5.5
g t2
n, 1,

A. 1, TUT 1, SHST: TR AT GT JHIE J1eg |

B.n, AYTn, U® &l AHY & &1 T4 & Widax & uliesi & g §
C.S, AU S, T &1 FATP & &l FA1 & YR AT ¢

D. §, A1 S, U &1 gUfP & &l 71 B TS 31 &

E. n; WIIGR S SHHY TUT n, THE BT HAG |

= 30 gu fasedl O 9gl SR &1 984 &

1. PaAB AR D
2. Pdd A, B IR D
3. B B.C IRD
4. Pdd A IRE

Options :

485584143517, 1

485584143518, 2

485584143519. 3
485584143520. 4

Question Number : 116 Question Id : 48558435881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

10 litres of concentrated acid containing 75% of acid and rest water 1s mixed with X litres of diluted acid
containing 40% of acid and rest water. If the final mixture contains 60% of acid then value of X is:

1. 7.5 litres

[

. 9 litres
3.6 litres
4. 8 litres

Options :

485584143521. 1
485584143522. 2
485584143523.3
485584143524. 4

.
Qcollegedumas
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Question Number : 116 Question Id : 48558435881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

75% 3R dYT Y UIHI & 10 Tle? [HY0 H 40% 3% Ul 2N gHT & X dle? 3yl & (Semr afe g
8o o 60% 3% 81 df X &1 91 o1 81

1. 7.5 dicR
.9 IR
3.6 TleY
4, 8 Wiy
Options :
485584143521. 1
485584143522. 2

485584143523. 3
485584143524. 4

[ ]

Question Number : 117 Question Id : 48558435882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

Fisher's price index number 1s:

1. A M. of Laspeyre's and Paasche's index

| )

. G.M. of Laspeyre's and Paasche's index
3. HM. of Laspeyre's and Paasche's index
4. Average of Laspeyre's and Paasche's index

Options :

485584143525. 1
485584143526. 2
485584143527. 3
485584143528. 4

Question Number : 117 Question Id : 48558435882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value .
w collegeaunias
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|Comprehension |MCQ3

ftFeR &1 i YEH 1@ o
1. ST TYUT O & GASiP B GAMR J1E

[

 ORUT GYT UTR & gADiS B UIER J1e

3. T U IRl &A@ S B gRIeTd "1

4. OYTY YT TR & YEdid SN

Options :

485584143525. 1
485584143526. 2
485584143527. 3
485584143528. 4

Question Number : 118 Question Id : 48558435883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

A random variable X has the following probability distribution

X 0] 1] 2] 3 ] 5 6 7
P(X) 0| k [2e| 2 | 3k | 12 | 22 | 2

then value of E(X) 1s:
1.1.66

2.2.66

4. 4.66

Options :

485584143529. 1
485584143530. 2
485584143531.3
485584143532. 4

Question Number : 118 Question Id : 48558435883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ3 |
Q, collegedunias
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TS Uref=s® 9% X &1 Widedl 9o == faar mar &

b 0 1

b2

6

P(X) 0| x | 2k

:
21
2

Tk

AEX) FTAFE:

1.1.66

[
!_.J
(=)
=

¥
E_u
=]
=]

4. 4.66

Options :

485584143529.
485584143530.
485584143531.
485584143532.

B W N =

Question Number : 119 Question Id : 48558435884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ3

With reference to time series. match List I with List IT

LISTI

LISTII

Secular movements | I

Price increase before Despavali

Seasonal variations | 11

Increase in price of gold during a major war|

Cwvelic variations I11.

[ ong term trends

Olo|w@|=

[rregular variations | IV,

F ecurring rise and decline i production

Choose the correct answer from the options given below:

1. A-III. B-1. C-IV, D-II
2. AL B-I, C-IV, D-III
3. AT B-IIL, C-IW, D-I
4. A-TI. B-I11, C-IV, D-I
Options :
485584143533. 1
485584143534. 2

485584143535. 3
485584143536. 4

-
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Question Number : 119 Question Id : 48558435884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

et Aot & Teaf . 1 o1 e 1 @ v T

T 1 T 1
Se@rE ufEd | 1 | S S qwate
fiuiads |1 |se g daRAan oload | gia
THE OGS | 1L | Eeered Suid
Hiafid oiada | IV, | @re- ° @ AR 318 AR fRae

FFafead fasedl 4 I el 3R &1 999 HIl

1. A-IIT. B-L. C-IV, D-II

U@ =

2. A-IT, B-1. C-IV, D-III
3. A-IILL B-I1L C-IV, D-I
4. AL B-III, C-IV, D-I

Options :

485584143533. 1
485584143534. 2
485584143535.3
485584143536. 4

Question Number : 120 Question Id : 48558435885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

The region represented by the system of inequalities x, vy = 0, y < 8. x + v < 4 13

L. unbounded in first quadrant

| )

. unbounded in first and second quadrant
3. bounded 1in first quadrant
4. bounded 1n first and second quadrants

Options :
485584143537. 1

485584143538.2 .
% collegedunias
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485584143539. 3
485584143540. 4

Question Number : 120 Question Id : 48558435885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

AT & AP x, p =0, y < 8. x + y < 4 R Fo(Ud 89 &
1. Wyd Iquie ¥ sufes

o Y el gufr o soRes

vy 9gufe 4 ulas

w1 Tty Igufe 7 aRes

| ]

Lad

e

Options :

485584143537. 1
485584143538. 2
485584143539.3
485584143540. 4

Question Number : 121 Question Id : 48558435886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

The solution of 7x = 3(mod 5) 1s:
1.x = 5(mod 5)
2. x=4(mod 5)
3. x = 1(mod 5)
4, x = 2(mod 5)

Options :

485584143541. 1
485584143542. 2
485584143543. 3
485584143544. 4

Question Number : 121 Question Id : 48558435886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1 .
% collegedunias
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Question Key Details :

Key

Value

Comprehension

MCQ3

1. x = 5(HT9S 5)
2. x = 4(TTHIF 5)
3. x = |(HI 5)
4. x = 2(HTUID 5)

Options :

485584143541. 1
485584143542. 2
485584143543.3
485584143544. 4

Question Number : 122 Question Id : 48558435887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

For the LPP Max Z=3x+4y, x +y<40; x + 2y < 60x = 0, y = 0 the solution is :

1.x=20,y=20, Max Z= 140

|

.x=40,y=0,Max Z= 120
3.x=0,y=60, Max Z= 240

4. x=10,y=30, Max Z= 130
Options :
485584143545. 1
485584143546. 2
485584143547.3
485584143548. 4

Question Number : 122 Question Id : 48558435887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

-
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7x = 3(ATHI® 5) PT8d &

1. x = 5(HTIF 5)
2. x = 4(HTUIE 5)
3. x = L(HTTIP 5)
4. x = 2(HIUTDP 5)

Options :

485584143545. 1
485584143546. 2
485584143547.3
485584143548. 4

Question Number : 123 Question Id : 48558435888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ3

If the mean of the probability distribution 15 5. then the value of k 1s:

X ) k 5
P(X) 02 | 04 | 06
1.1
48]
3.4
4.3

Options :

485584143549. 1
485584143550. 2
485584143551. 3
485584143552. 4

Question Number : 123 Question Id : 48558435888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ3

-

collegedunias
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gfe Wil de &1 314 5 § df k BT HH &

e 2 k 5
P(X) 02 | 04 | 06
1.3
N
3.4
4.3

Options :

485584143549. 1
485584143550. 2
485584143551.3
485584143552. 4

Question Number : 124 Question Id : 48558435889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ3

ra

4 5 2 : i
Ifa= L Jl 7}. then the sum of the elements of the matrix AAT is:

1.156

| -]

164
3. 146

4,136

Options :

485584143553 1
485584143554.2
485584143555. 3
485584143556. 4

Question Number : 124 Question Id : 48558435889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ3

-
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aRa-|} 5 A MO AATF e o AR &

1. 156

| S

164
3. 146

4. 136

Options :

485584143553. 1
485584143554. 2
485584143555.3
485584143556. 4

Question Number : 125 Question Id : 48558435890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

3 3 T dv .
If .3, 7 _ 47 (ais a constant) then E 1s equal to :

1 [I'!' ‘I-_I-
x)
1
2 X \'.I
y)
1
G BH
\-\f)
1
a _xF
y)
Options :

485584143557. 1
485584143558. 2
485584143559. 3
485584143560. 4

Question Number : 125 Question Id : 48558435890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

-

collegedunias

India’s largest Student Review Platform



Key Value
Comprehension MCQ3
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Options :

485584143557. 1
485584143558. 2
485584143559.3
485584143560. 4

Question Number : 126 Question Id : 48558435891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

Let A and B be symmetric matrices of same order, then which of the following statement 1s true?

L. (A + B) is a symmetric matrix

| )

. (AB) 1s a symmetric matrix
3. (A + B) 1s a skew-symmetric matrix
4. (AB) 1s a skew-symmetric matrix

Options :

485584143561. 1
485584143562.2
485584143563. 3
485584143564. 4

Question Number : 126 Question Id : 48558435891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Q

Correct Marks : 5 Wrong Marks : 1 COl IegEd unias
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Question Key Details :

Key

Value

Comprehension

MCQ3

THET A TUT B 90 Sife & JHT g § o 9 1 9 S -9 27 99 62

1. (A +B) 99fd 308 3

(2]

(AB) AT 08 ©
3. (A +B) [qwg 9Hiid 3ogg §
4. (AB) fawa Tmfirg amegg ®

Options :

485584143561. 1
485584143562. 2
485584143563.3
485584143564. 4

Question Number : 127 Question Id : 48558435892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3
For matrix A = _: i  the values of x and y so that A% + xI = yA are :
l.x=6.y=8
2.x=8,y=6
J.x=8y=8
4. x=06,y=6

Options :

485584143565.
485584143566.
485584143567.
485584143568.

B WO~

Question Number : 127 Question Id : 48558435892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3
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1.x=6,y=28
2.x=8,y=6
J.x=8,y=8
4 x=6,y=6

Options :

485584143565.
485584143566.
485584143567.
485584143568.

AW N =

Question Number : 128 Question Id : 48558435893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

If§ +3x<|8 +3x|.x €R, then x lies in :

1. (—m, o)

2 —:-:__—3\1'
5

(-3

L N]

(-4

Options :

485584143569. 1
485584143570. 2
485584143571.3
485584143572. 4

iy

Question Number : 128 Question Id : 48558435893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3
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Options :

485584143569. 1
485584143570. 2
485584143571.3
485584143572. 4

Question Number : 129 Question Id : 48558435894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

For x + y =8, the maximum value of xy is:

1.4

| ]
[=.a]

4. 16

Options :

485584143573. 1
485584143574. 2
485584143575.3
485584143576. 4

Question Number : 129 Question Id : 48558435894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3
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1.4

| )
(o]

4.16

Options :

485584143573. 1
485584143574.2
485584143575.3
485584143576. 4

Question Number : 130 Question Id : 48558435895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

The maximum profit that a company can make if the profit function 1s given by

P(x) =32 +24x —18x7 is:

1.48

()

.40
3. 36
4.42

Options :

485584143577. 1
485584143578. 2
485584143579.3
485584143580. 4

Question Number : 130 Question Id : 48558435895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3
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P(x) = 32 + 24x 182 [T 81 %

1.48

2. 40

.36

Lad

4.42

Options :

485584143577. 1
485584143578. 2
485584143579. 3
485584143580. 4

Sub-Section Number : 2
Sub-Section Id : 4855842651
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 131 Question Id : 48558435896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp?2

A motor boat goes 48 km downstream and comes back to the starting point in 16 hours. If the speed of the
stream 15 4 km'hr, then the speed of the motor boat in still water 1s :

1. 6 km/hr

[ ]

. 8 kv/hr

10 kil

L]

4 5 kin'hr

Options :

485584143581. 1
485584143582. 2
485584143583.3
485584143584. 4

Question Number : 131 Question Id : 48558435896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
Key Value

Comprehension Comp?2
w collegeaunias
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1. 6 fpdder
.8 feader
3. 10 fodider
4. 5 foodder
Options :
485584143581, 1
485584143582, 2

485584143583.3
485584143584. 4

[

Question Number : 132 Question Id : 48558435897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp?2

2.
If _\'=i) and ._1'=l“ then d_l atr=11s:

£ ' ax’

() —
(R

b |

L]
| ko

da |

Options :

485584143585. 1
485584143586. 2
485584143587.3
485584143588. 4

Question Number : 132 Question Id : 48558435897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp?2 Q I I | A l s
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Options :

485584143585. 1
485584143586. 2
485584143587. 3
485584143588. 4

2

dx

Question Number : 133 Question Id : 48558435898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Comp?2

A coin 1s tossed 5 times. The probability of getting atleast one head 1s:

| ]

Options :

485584143589. 1
485584143590. 2
485584143591.3
485584143592. 4

Question Number : 133 Question Id : 48558435898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Question Key Details :

Key Value
Comprehension Comp?2
U% (9% ®f 5 IR I9Td1 T $H 8 HH T & A DI Wiiedr gril-
i &
32
2 B2
16
i ol
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32
4 B
64
Options :

485584143589. 1
485584143590. 2
485584143591. 3
485584143592. 4

Question Number : 134 Question Id : 48558435899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp?2

The following data are from a sumple random sample : 1. 4, 7
The point estunate of the population standard deviation is:

12

| )
n

4.3

Options :

485584143593. 1
485584143594. 2
485584143595.3
485584143596. 4

Question Number : 134 Question Id : 48558435899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details : Qcol Ieged u niaé
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Key

Value

Comprehension

Comp?2

FafaRad sits Qg A= Wa=a  : 1, 4, 7 9HY AHS = & a1 fog 5

1.2

| S
L

4.3

Options :

485584143593. 1
485584143594. 2
485584143595. 3
485584143596. 4

Question Number : 135 Question Id : 48558435900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Comp?2

A car costing 8,50.000 has scrap value of 31.25,000. If annual depreciation charge 1s 31.45.000. then useful

life of the car 1s :

1. 12 years

[

. 5 years

3. 7 vears
4. 10 years

Options :

485584143597. 1
485584143598. 2
485584143599. 3
485584143600. 4

Question Number : 135 Question Id : 48558435900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Comp?2
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Options :

485584143597. 1
485584143598. 2
485584143599.3
485584143600. 4

[
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Question Number : 136 Question Id : 48558435901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1 .
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